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-1/8 38. 13+65=.2=20%
-3/4 39. 125.6+3.14 = 40 in (diameter)
2 40+2 = 20 in (radius)
5/3 3.14x20% = 1256 in? (area)
40. 80+10=38
o/8 8X8x4 = 256 cm?
Y =5/9X -11/3 41. bigger : smaller =2:1
Y:2/7X-8/7 241=3
Y =-1/5X -9/5 %5: bigger one
X -2Y=1 V5: smaller one
3X -2Y =11 %5x48 = 32 balls
42. Method I
X2+ 7X-18 %+1/<2))_4.5
-3X + 2 ar_ i _
1262 = 18x4.5 = 81
. X2+ 2X-8
X2+ 4x-12 Method II)
X2 X2 126x% =36
126 - 36 =90
Bx +3)(6x-1) 1,%90 = 45
BGx+3)(3x—4) 45 + 36 = 81
. 203X + 4)(4x - 3) 43. 250 + 150%x12 = 2050 (total)
44
- — +
X = ExH ) 20x10 = 200 in?
X2+ 2x+1 V4(102%3.14) = 78.5
. X2+H4Ax+4 200 + 78.5 = 278.5 in?
X2—6X+9
X2+ 8x+16
. X2+ 10x+25
. (6x—2)?
. (6X+4)? 20in
. (9x+0.4)?
- (@x=1y 10in
2
Ox+3) 45. B=(5,13)
2=092 =
. (2.25%x4)2=92=81 46, C=(11,13)
. V15xv/35xy21 47. D=(14, 5)
=V3 x5xV5 x 7xy/7 x 3 48 B
= 3x5X%7
=105 49. 7.2x7.5 = $54
C 50. 60V2 = 84.84 ft
240 - 6 + 7 = 241 51. 12X3X7 = 252
460 +230 = 21202230 = 290 = 830 52. (2.5x0)x4.6 = 5x92
0 =30 (2.5x0) = 5%20
C 0 =2x20 = 40
2X + Vi) = X -
Xx=-1
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. Flip the lower quarter circle fill up the left side.
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3t2 + 30t = 72

2+ 10t = 24

t+12)t-2) =0

t=-12&2

C

-(35%45%0.04)

= -(70%x90%0.01)

=-63

-48X2 + 4 =92

604

12(180 - 70) = 55

X =70 + 55 = 125 (exterior angle theorem)

or

X =180 - 55 = 125 (supplementary angle)

Let X oz of 34%-solution and (15 - X) oz of 22%-

solution are mixed. Then, we have

34X+ .22(15 - X) = .30(15)

J12x = .08%15

X =10

Arca ABEF =~ x2xZ=2
277475 10

Atrea shaded = o= 70%

Avg = Btott+Gtot — 120+120

9 5 5
289 = 48 mph

6+a
5X2— 30X + 45
=5X2—-6X+9)
=5(X - 3)?

=5x.22

= 5%0.2x02

=0.2

(10-2)x180/10 = 144
X2 + y2

= (X + y)z - ZXy
=100 - 40

=60

A

x-y)?

= X2+ y2 - 2xy

= X2 +2Xy + y2- 4Xy
= (X +y)2 - 4y
=102-80

=20

X-y=2V5

Each square is 2 by 2.
The diameter is 2v710.
The radius is v10.

So, the area of the circle is 10n = 10 pi

= 48 Ibs
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Tet £A = a, £C = 8a and £B = 8a+10. Since the
sum of three intetior angles is 180°, we have
LA+ £B + £C =180°

a+ (8a+10) + 8a = 180

17a =170

a=10

20480 = 343 = 4% hrs

total distance_120 _ 26% =26 2/3 mph

total time ~ ,1
2

D

1 chopped, then 5 grow, or 4 added
6 chopped, then 30 grow, or 24 added.
5+30-6=29

1+ 36 =37

1x36 = 36

36-1=235

B

55 = 5x11

57 = 3x19

51 = 3x17

49 = 7x7

91 = 7x13

walk:0.4 hr = 24 min
run:14 min

24 — 14 = 10 min longer
1+2+4 =7

1x2x4 = 8

2+ 83 =285

2x83 = 166

B

180 + 180 — 90 = 270°
840

There are C§ = 15 games.
Each game has a winner.
4+3+2+2+2+0 = 15
O=2
Monica must have won 2 games.
The following is an example for the outcomes of
the tournament.
H 1 J K L M

H O 0 0 0 1
I 1 0 0 0 1
] 1 1 1 0 0
K 1 1 0 1 0
L 1 1 1 0 0
M 0O 0 1 1 1

e | 2] 2] 2] 2] 2]
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